Calz-r— &~ T:e. —TZ CJ 't'rFCQT

¢J2+ ;@e————'——? AJ
Fo. = ‘FGQT ‘F@

cd T —= = & =7

2Fc iy 20 —R"" <60
—F ~“3

Zﬁfe, 2 Fe ™" -&—/gcr_ } N
(

¥}/ éc’gz "'Z{-—-——? {(:—Q— ‘> ’p./c_[___s

e C ___»

I ———

(S ZE_+4H—+—,—4¢T——’ Z_HLO)

(vl + 9—
4 [®’S ~ (140 —— Fe_(@&)gfr{‘wﬂ@q_ﬂﬁa

-

4 -—



B ,9 [#€)

—
—

/08

,276—{

=l=1roN. ad-

/K:Jﬁ‘w'ﬁf

belds ~ bt
HA t o == A «ho k

AL

K= K, ¥

P<D — Ox

To! A b gy T
C —— H*—re_'\()
R,
A¢C P Kg— 4

AEEEE
k‘=t/l (g <Ky /;evz

T:eg"'.c-e ==

(7<)

(Fe2t)

VGl
//w
4H=-1-S

-

e

e
=7




G G- § B0










AR Sl

-
kle] - [%y -[7'%?*7) N,
kg9 Top — K7 () = ()
[—527/4* I ﬁy = K/ Fer
[Tc e [ LICET T L[| bl

Lr X Te] <
I AN Fer s
1T+ K @-1
r<_
et [7 - r EE









T o7

?ﬁgf?g Zl"'zO-\. 4fF+¢’2e'——,———VZHz(—\-‘ 2o
= (2
gkco ZH'—r.(_ e | T T GLL(S)
K= g3/ DZ(T 4 #* ¢ € — > th ©
8 =

%kz?z.l OZ_(q) «2h0 e&é —= aoH™



2w -+ %" =— Z?‘v\z*:- co
b; ~ —~So0¢ Kh(/m{e_

B ] Ao de
1 Fof e = o7 \/ ,A/{ i@L
A6 = \i\lp (fﬁqf_—/h AE
Ny = A
Ne = — B4 {












HT o == £ & (5]

-1 | Z

= e‘g/; ©,¢] ;//ﬂ:z/>

4
B"“"H]

A







2@2 rﬁw@ % (1207) « Cee’]

2(en., ] (Hceo\c <¥ H =Y

zfaez] s
(60@) = 22 (o
Thees) = <O 2[@);6 (?ﬂo)
L5252
- 1S3 . o532 j, ( (53"‘5/
) ’ (] -3z
. 4% ~ 6,052 (4
% U;.f-')

t=44( - 0.0 pt



(Qefre (X, /c{Q_"

E- e _ _00os% e

/ T
4 44 o005 (5.3 &%)
(;.&- u:s')i:a_

@'7’ 5317 ;Q/- Gfie

@ >> [#Co)+{Tes])

Z(épz) = @0:] =/jg’4r-( = Cr_i_
(0] = & * = [B). 3756 K

(k)= ¢; - 2[,)

_,(= GEAMENT) \@'? = '3.3'(5?1-\

E- & _ _Oo5%2 {23

/ 1 et

= ’[,4 ~ ©,05%2 (5.3 L,-‘;’)
(s.s-uﬁ)ﬂ—z

£z d,4_ o052 —% [ % 7S ta“'?)r: 4,52
=4S



Cafe — b€RO /dgo™

PO — vt « e~

‘C;F*P):We







e ()« TeE8) 5> 2ft0)) (007
ofe)- 6% fRifesie®

Geo)= @, - [ = ¢ 53>
D s 1%

P CF’
t= F, ~ L0512 ? {ce”)

’ : o) Circed]

Lo4c _ Se2 f c
6‘77yo"/

Ié i 4,5 — 0,25 /9#
\) 0
&aﬁ‘—v{ Cb'/fé/

M*—k’* e - CQP -1—14,’0

(o bt —  HO

s

pE———

-

QRO +2K ) —= (0" 4+ b O

-—



® 0 +#" e =% Q™ +KO,

® o ~u* — O

s

e ————

® QRO +2K ) —= (0" 4+ b O

-—

) ° 0
5{5 = Mj "I""K{4
»f'“-s'F"ET-} "'}[‘}F'E:: 4 7 Ca Kq,

»>

—

e

i‘(us-‘FE—;} . @ Cec K,

s/: F s PG

27\5 T@?/@ﬂ
o2 g B

EARENI RN CERWINE T

[C@ |+ Tes) > QAVARCAIE o
2t 6T e 5.6 T



() cpmted] = S5 e 5.5°

= S-©

(et o<
| € - 0.©5%2

= 69 st
( T F* ;«K{

/

CogT









““5/‘(/“#9 e T4l

Cc+ 340 = H.ZDS'_—\— SHTx 4e

CreBc = [HOo )= ST

L e
f&azz + O B L % @-@_{) [ Uj-":)

+ L2

N QosfL— %) —
0324 + %—- ?(‘0) 9-_-:” 5P &

€2 028 ~ OPFf ptf



Ce —= C + 46T g T

lre] (] € = 0,083% \/

‘[‘C%’) - EC<c; —_-.cé'?j

ogsn % LA J:@/

(Chl e
Qo8r§ DD“\ /Lc-y oeﬁz H

E:
|
/:_IT— lgf- - O@B’gz_ (;)

Nl




* =
g + K40 — &= ¢+ bl tse

T = D/Zgg Vv
* reg-
€= 4 Qo532 T™ [eo7)
5 [Z%é}/@é?/

@A&;Z - E@‘&c)

09”%? Cl:f“?)(
-
o8 __ 9017, />y—



